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Sample Paper- 2016
Subject: Mathematics
Class 9th 

PRE-BOARD EXAMINATION – 2016

Time : 3 hrs CLASS – IX (Mathematics)M.M. – 90


                                                                 SECTION – A                                                     4 X 1 = 4

Q 1.  Identify A rational number among the following :

[image: image2.png]


,  0.2020020002…………………   ,  [image: image4.png]


  ,   0.534534534…………………

Q 2.Find the value of the polynomial  x – 1 + x2   at  x = - 2.

Q 3.  If lines ‘p’ and ‘q’ are parallel and lines  ‘q’ and  ‘r’ are also parallel,then what can you say about 

the lines  ‘p’ and  ‘r’ ? 
Q 4.  What will be the co-ordinates of the point which lie on y-axis at a distance of  4 units in 

negative direction of y-axis ?


                                                                 SECTION – B6 X 2 = 12

Q 5.Insert three rational numbers between  [image: image6.png]


  and   [image: image8.png]


  .

Q 6 .What should be added to the polynomial  2x2 – 3x + 3 , so that 1 is a zero of the polynomial?
[image: image41.png]Q 7.  In the given figure AC = DC and  CB = CE .Show that BD = AE.
Q 8.  In the given figure, if  ABD =  ACE , then prove that  AB = AC.

Q 9.  In which quadrant will the point lie , if
(i) The ordinate is 2 and the abscissa is  - 3 ?

(ii) The abscissa is – 4 and the ordinate is – 2 ?

(iii) The ordinate is 3 and the abscissa is  4 ?

(iv) The ordinate is 3 and the abscissa is – 2 ?

Q 10.  If area of a right angled triangle is 216 m2 and base is 24 m,find the perimeter of the triangle.

                                                                                 SECTION – C                                                   10 X 3= 30


Q 11.If  x = 2 + [image: image10.png]


 , find the value of   x3 + [image: image12.png]


 .

Q 12.  Represent   [image: image14.png]


 on number line and write steps of construction.

Q 13.  Find the value of  ‘a’ , if x + a  is a factor of the polynomial p(x) = x3 + a x2 – 2x + a + 4  .

Q 14.  Rationalise the denominator of  [image: image16.png]43 +5V2
43 + 342




 .
Q 15.  If two interior angles on the same side of a transversal intersecting two parallel lines are in the   

ratio  3 : 2 , then find the greater of the two angles.
Q 16.  In the given figure , DE AB.Find the value of x and y.

Q 17.  In figure. , if  p II q ,  3 = ( x + 30)0 and  6 = ( 2x + 15)0 , find  1  and  8  .



Q 18.  In the given figure ,  1 =  3  and   2 =  4  .Show that  A =  C.

Q 19.Plot two points A( 0 , 4 ) and  B( 4 , 0 ) on the graph paper.Now,plot point C so that OBCA is a   

square . Draw diagonals and write the co-ordinates of the point of intersection of the 

diagonals.
Q 20.  Find the area of quadrilateral ABCD in which AB = 34 m , BC = 36 m , CD = 44 m , DA = 48 m 

and AC = 60 m.

                                                                                 SECTION – D                                                  11 X 4 = 44

Q 21.Simplify :[image: image18.png]253



  +  [image: image20.png]


  +  [image: image22.png]


  +  [image: image24.png]


   .
Q 22.Arrange the numbers   [image: image26.png]


  ,  [image: image28.png]


  and  [image: image30.png]§/50



   in ascending order.
Q 23.Factorise  p( x ) = x3 – 4x2 + x + 6  , using factor theorem.

Q 24.  What are the possible expressions for the dimensions of a cuboid , whose volume is                     

36kx2y – 21kxy2 + 3ky3   ?

Q 25.If the polynomial  b – x – 10x2 + 8x3 is exactly divisible by 1 – x ,then find the value of  ‘b’. 

Hence ,factorise the polynomial.
Q 26.If  f(x) = x2 – 5x + 7 , evaluate  f ( 2 )  - f ( - 1 ) + f ( [image: image32.png]


 ).

Q 27.Amit pledges to donate triangular land, area of which equals the area of a rectangular land 
required for village school.Also, the area of the rectangular land equals that of a square land 
used for farming by him.Then, state the Euclid’s axiom that best illustrates the relation of 
three shapes of land.Which values are exhibited here ?
Q 28.  In the given figure, OA = OD and  1 =  2 . Prove that [image: image34.png]


 OCB
Is an isosceles triangle.

Q 29.In the given fig.,  ABC = 300  ,  EDF = (40 – x )0  and  ADE = (13x + 20 )0.Show that BC II DE.

Q 30.  Prove that the sum of  three angles of a triangle is 1800.If in a right angled triangle , an acute 

angle is one – fourth of the other,find the acute angles.
Q 31.  In the given figure of a [image: image36.png]ARST



 , RT [image: image38.png]


 RS and  RP is the bisector of   SRT . Prove that  RPT[image: image40.png]


 RPS.
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